
SHEET NO.

L-D3

DRAWING TITLE

LANDSCAPE DETAILS
THREE

DRAWN BY

CHECKED BY

EC

DW

DATE

SCALE
AS SHOWN

PROJECT

ELWICK PARK SITE
IMPROVEMENTS
PHASE TWO
BCI II - PHASE TWO
OLD KILDONAN
WARD

DAVID WAGNER ASSOCIATES INC.
#4-430 RIVER AVENUE • WINNIPEG MB • R3L 0C6 • (204) 452-2426

DO NOT SCALE DRAWING - PLOT MAY NOT BE AT 100%

Location of underground structures as shown are 
based on the best information available but no 
guarantee is given that all existing utilities are 
shown or that the given locations are exact.  
Confirmation of existence and exact location of all 
services must be obtained from the individual 
utilities before proceeding with construction.

NO. REVISION / NOTE BYDATE

1

2

3

4

PROJECT NO.
1317

30 MABERLEY RD

FEBRUARY 26, 2014

RELEASED FOR TENDER DW02/26/14

,M0k-

tc

a n

cpca
ds re a

t

h i
el

so f

i

n

m
a

o n

osaa
i ot b

i
ta

cs

t h
e

member no. 35

DAVID M. WAGNER

Specifications are subject to change without notice.

Parts List

Part# Description Qty
127161-00 Drop Shot, Specify Color .......................................... 1
144219-00 Support Post, Specify Color ..................................... 1
144244-00 Bracket, Specify Color .............................................. 3

160507-00 Drop Shot Hardware Package ............................... 1
100198-00 3/8" x 1 1/8" BHCS w/Pin, SST .................................. 3
100362-00 3/8" Flat Washer, SST ................................................. 9
136931-00 3/8" Nylock Hex Nut, SST ......................................... 3
100196-00 3/8" x 7/8" BHCS w/Pin, SST ..................................... 3

Specifications

Drop Shot: Rotationally molded from U.V. stabilized linear low
density polyethylene, color specified. Drop shot mea-
sures 3' in diameter.

Support Post: Fabricated from 3.500" O.D. RS-20 (.120" - .130")
galvanized steel tubing. Finish: ProShield, color speci-
fied.

Bracket: Fabricated from 1/4" HRPO flat steel. Finish: ProShield,
color specified.

Fasteners: Primary fasteners shall be socketed and pinned
tamperproof in design, stainless steel (SST) per ASTM
F 879 unless otherwise indicated (see specific prod-
uct installation/specifications).

Installation Time: Approx. 2 1/2 man hours
Concrete Req.: Approx. 8.4 cu. ft.

Area Req.: 25' (7,62 m) diameter
Weight: 95 lbs.

Sports & Fitness 100042 Drop Shot

Installation Instructions

1) Dig footing to width and depth shown.

2) Insert support pipe into drop shot.

3) Attach brackets to support pipe tabs using 3/8" x 1 1/8" BHCS w/pin
with 3/8" flat washers and 3/8" nylock hex nuts with 3/8" flat washers.

4) Attach drop shot to brackets using 3/8" x 7/8" BHCS w/pin with 3/8"
flat washers.

5) Place assembly in footing hole and temporarily brace in plumb posi-
tion.

6) Pour concrete footing and let cure for a minimum of  72 hours before
removing braces.

7) Install play surface.

J:\SPECS\160\16050600.P65

ECO #53332  Document #16050600 Replaces  #14422000.  Added 3/8" x 7/8" BHCS w/Pin to hardware package.

37
00

1
4

4600 4600

FRONT VIEW

Chain Link Mesh 
to Inside

No Gaps in Chain Link Mesh 
where Wall Meets Roof

12200

18900

SIDE VIEW

37
00

Pitched Roof

Batting Cages
Scale: 1:1001

L-D3

Batting Cage Notes:

1) Chain link batting cages to CW 3550
2) Corner Posts 89mm OD SS 30
3) Roof Supports 60mm OD SS 30
4) Rails 43mm OD SS 30
5) 9ga Mesh

CP Corner Post

* Contractor must supply shop drawings for the 
batting cages to the Contract Administrator

37
00

18500

All Posts Min. 1220mm in Ground

12200

18500

3000

9150

150°

46
00

46
00

PLAN VIEW

Pitched Roof
Chain Link Mesh 
to Inside

CP CP CP

CP CP CP

CP CP CP

CP

CP

CP

CP

2440 typ.

18900

Copyright 2010 Barkman concrete Ltd. All rights reserved. Any duplication or reproduction is strictly prohibited

Park Bench

January 27, 2014

Park Bench

Height: 1'-3"

Width: 1'-8"

Length: 8'

© 2007 by Landscape Structures.    All rights reserved.

  601  7TH STREET SOUTH,   DELANO, MINNESOTA  55328-8605   (763) 972-3391   1-888-LSI-INST   (1-888-574-4678)   FAX (763) 972-3185

14422000

Document #16050600

100042 Drop Shot

Support Post

Concrete
Footing

Sports & Fitness

36
"

91
0

Crushed
Rock

CONCRETE FOOTING

3 1/2" O.D.
Support Post

(3) 3/8" x 7/8"
BHCS w/Pin
w/ 3/8" Flat
Washers

Roto-Molded Drop Shot

36" Dia.
910

11
4"

/2
90

0
F

ro
m

 T
op

 O
f R

im
 T

o 
P

la
y 

S
ur

fa
ce

24" Dia.
610

Play Surface

Subgrade

(3) 3/8" x 1 1/8"
BHCS w/Pin
w/ 3/8" Flat
Washers(3) 3/8"  Nylock

Hex Nuts w/ 3/8"
Flat Washers

(3) Brackets

Concrete Park Bench
NTS

2
L-D3

Drop Shot
NTS

3
L-D3

Bench Notes:

1) Poured in place concrete base c/w
pipe leg for installation as per SCD 121A.


	L-D3 [DETAILS]
	Viewport-15
	Viewport-16
	Viewport-17


